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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

State the law of conservation of energy.

Why transformer rating in kvA?

Define Magnetostriction.

Explain need of parallel operation.

State the necessity of starter.

Why D.C. series motor should run without load?

Why transformer efficiency is more compare to D.C.generator?
Why dummy coil is require in wave wound generator?

Define Piezoelecricity.

Define coil span & front pitch with respect to armature winding in
D.C.generator.

Explain the necessity of commutator in D.C.generator.
OR
Draw neat sketch of D.C.generator. state its various parts.
Define following with respect to armature winding
1) Pole pitch
2) Back pitch
3) Commutator pitch
OR
Explain the power stages in D.C.generator.
Derive emf equation of D.C.generator.
OR
Explain armature reaction in D.C.generator.
Compare Lap winding and Wave winding.
OR
Explain various losses in D.C.generator.

Explain working principle of single phase transformer.
OR
Explain voltage transformation ratio and turn ratio.
Explain voltage regulation of transformer.
OR
Compare core type and shell type single phase transformer.

Explain vector diagram of 1-@ transformer for lagging power factor load.

OR
Derive condition for maximum efficiency of single phase transformer.
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The value of maximum flux density in the core of an 11000/440 v, 50 Hz
single-phase transformer is 1.1 Wh/meter 2 If the value of primary winding
turns is 5500, find

a. Cross sectional area of the core

b. Numbers of turns of the secondary winding

c. Turn ratio

d. Transformation ratio

OR

The iron losses of a 25k VA singleOphase transformer are 400W and copper
losses at half-full load are 200W. find its efficiency at full load , 0.8 p.f.

Draw & explain starting characteristic of D.C.series motor.
OR
Draw neat sketch of 3-point starter & explain in brief.
Explain swinburn’s test.
OR
The resistance of the armature, series field and shunt field winding of a 200 V,
6-pole long shunt compound motor are respectively 0.06 Q ,0.04Q and
100Q.there are 72 slots in the armature and 10 conductors per slot. Flux per
pole is 15 mWhb. Motor draws the line current of 40 A. find
a. Speed
b. Torque developed by the armature
Derive the torque equation in D.C.motor.

State methods of electromechanical energy conversion & explain any one.
Explain sumpner’s test.

State application of auto transformer.

State condition for parallel operation of two single phase transformer.

*khkkkhkhkkkkik

2/4

04

04

03

03
04

04

07

04
04
03
03



Ud. 1

UH. R

U4 3

& e v £ X W oo

o ©

£

oAl
gaHiel sluRl Ulctoll sallol AL,
Wotof] 5023A™UA oll [(A2AH QU .
2ot SR of 3oL FcllA ui u sl B 2.
Nolgls et UHA
QA vluReletl ofl w3dlad weudl.
SLall.le? HR eteR ol ezdlaud weudl.
SLALAIR MzRal 31 Als ddlR Al 5l o18l?

2lot$1HRell sttt SLl.Hallot sl atl? 3H B?

Ad dlGes et SHL SISl 3312t Ul
YA SAsE A2l el

WORAR cAlBoSololl UEMHL AL WA Foe UlAc{l caltvaul WL,

SLRAL esotReul slirj2eRell az3lad saudl.
el

SLALHallotoll el el ol ey sl ElZla AHtAl.

WU cAlSoSIloll YEAHL oflAotl UEL AHAA
a. Wadlu
b. AsUlu
c. stjeelu
wal
SLAL esotReul Wy yMestal.
SLRA{L ootReall 8. AUNS. of YA dlRl.
wal
SLAL eetReul wUR AAs2tetoll ylsaul Axestal
AU A A dlSesole{l URuHR( 52
wal

SLAL oot Ul el el caloll AHyll wl.

Aol ¥ 2l SRl stARgGl UMl
uall

2lot§lH2lot 22(1RAL el 2ol UMl

glotSlRul dleeer 23jjA N UMesLAl.
uall

S12 Ul A UslRell Aol 32 2ledslial uuuAl.

3/4

1Y

03

03
03

03
0} 1

021
0} 1

021

03

03
03

03



U ¥

. u

v o £ ¢

Yol ¥ 2l slRell Ad(lot WaR ¥522 Als HI2 AseR SlaAUH
1R ol UM
wal
Aol ¥ 2l SlHRe{l HoH stalatHdl Hizell 2Rt Al
12000/%¥%¥0 a2 YO &2 UolA ¥ 2lodSIHRHL HedH $EsU
totcll 1.9 AuR/Hl2? 8. WU algesloletl Aiatell Avaul U100
alal Al
a) SRell WISDE Alge] AASN
b) A5S3 csesloletl Uiate(l Avall
c) 2o 9JulltlR
d) 2lodslHatet ojRl? 20k,
uall
As U 3l Yold ¥ 2lousHRell Al2AAAU ¥00 cle BD. Aal
8l Als UR SIURAM 200 dlz 8. dl dell Aglellaell get As 0.¢
ulaR 522 uR .

SLAL{13l MeRell 21dlol cllet@scl AHesta.

wal
3 WHe 212 ol a9 sl €131 gsHi AHstal.
cllototol 222 UHosLAl.

wal
A 200 dlee, § WA, AUHL H3A APlee $1UBS AlGoS
SLlleRetl 2R A BSles wA 2AceSles Mool Wofsn
0.05 Q,0.0% Q 2l 100 Q 8. WHUIHL VR WA O el €38
wiAl €ls 10 dgsl B. sets YAl auHldlack 8.1
cAlgSetmidll ¥o AR A B.Al RULS Wl MHURML Sadyu Ul 28
0.
SLLeR 1R 8o Yol dlRdl.

SAsSAZAsAH Aot soctrBotoll LA w0l S8 As UMt
AR 22 UMl

vlel-2let sl ol GuloL el

A Yol 32 2lodslHRell WIAHA U2t Hizo{l 2ARA e,

*kkkkhkkikkkhkkikx

4/4

021

(0} 1
(0} 1

(0} 1

03

03
0} 1

0} 1

09

0¥
0} 1
03
03



